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QUESTION 1

You are migrating an Oracle Database 11.2.0.2 on-premise database to an Oracle Database Cloud Service (Database
as a Service) that provides a pre-created Oracle Database 11.2.0.4 database.

Which two migration methods are possible?

A. Data Pump Transportable Database (TDB) export/import

B. Remote Cloning

C. Data Pump Transportable Tablespace (TTS) export/import

D. RMAN Transportable Tablespace (TTS)

Correct Answer: CD

Explanation:

You can migrate an on-premises source database to the database deployment on Oracle Database Cloud
Service using the Data Pump Transportable Tablespace (TTS) method.

You can migrate an on-premises source database to a database deployment on Oracle Database Cloud
Service using the RMAN Transportable Tablespace (TTS) with Data Pump method.

Incorrect Answers:

A: Data Pump Transportable Database is not possible.

B: Remote cloning is not possible.

References: https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/mig-11g-11g.html

QUESTION 2

Which statement is true about the Database Deployment and Database instances in Oracle Public Cloud?
A. An Oracle database instance can support only one Database Deployment.

B. A Database Deployment can support only one Oracle database instance.

C. An Oracle database instance can support multiple Database Deployment.

D. A Database Deployment runs in a pluggable database (PDB), which is contained in a multi-tenant container database
(CDB).

E. A Database Deployment can support multiple Oracle database instances.
Correct Answer: E

References: https://docs.oracle.com/en/cloud/paas/database-dbaas-
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cloud/csdbi/dbdeployments.html#GUID-61C0A3F6-1760-47EC-8B3E-8B50AE1276D9

QUESTION 3

Oracle provides additional web-based tools for monitoring Database as a Service (DBaaS) instances. One of the tools is
DBaa$S Monitor Console.

Which user would you have to log in as to use this tool?

A. dbsnmp

B. sys

C. dbaas_monitor

D. sysman

Correct Answer: C

Explanation:

To access Oracle DBaaS Monitor when the HTTPS port is unblocked:
1.

Open the Oracle Database Cloud Service console.

2.

From the menu for the deployment, select Open DBaaS Monitor Console.
A window prompting you for your user name and password is displayed.
3.

Enter dbaas_monitor as the user name and the password specified during the database deployment creation process,
and then click OK.

References: Using Oracle Database Cloud Service (February 2017), 10-2

https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/using-oracle-database-cloudservice.pdf

QUESTION 4

Which two statements are true about the SSH tunnels within an Oracle Database Cloud Service environment?
A. An individual SSH tunnel is required for each port in the environment.

B. The client must provide the server with the SSH private key.

C. The SSH tunnel must be selected by a security rule to enable remote access.

D. The server must hold the SSH public and private keys in the SSH authorized_keysfile.
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E. Oracle Database Cloud Service provides a centralized key server for all SSH connections.

Correct Answer: BC

QUESTION 5

Which three are ways to scale a Database as a Service (DBaaS) instance that is hosting three Oracle 12c databases?
A. Add additional virtual network interfaces (VNICs) to the DBaaS instance.

B. Increase the MEMORY_TARGET parameter value in each database instance that is running on the DBaaS instance.
C. Increase the CPU_COUNT parameter value in each database instance that is running on the DBaasS instance.

D. Increase the number of CPUs allocated to the DBaaS instance.

E. Add storage to the DBaaS instance.

F. Use the Oracle Database 12c In-Memory database option in each database instance that is running on the DBaaS
instance.

G. Increase the memory allocated to the DBaasS instance.

Correct Answer: DEG
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